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10. In Fig.1, the circular clock above shows a time of exactly
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Let a:—%,b:—Z%,c:l, then —5ab + {~ 3ab’c +ac — |- b?c? + (2ahc
+b?) | =

4:30. What is the value of x?
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In a group of 100 students, 38 are enrolled in mathematics, 50 in
biology, and 20 in both. If a student were randomly selected from the
100, what is the probability that the student selected would not

enrolled in either course ?

The diagram 3 represents a regular pentagon, ABCDE

inscribed in a circle, centre O. The tangents at A and E

meet at P. Then the degree of ~APE is

Fig.3
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